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. Convert text (integer) to longword 16-SEP-19gk ??:?9:53 !AX/VHS Macro v04-00 Page
6-SEP-1984 :13:46 [LIBRTL.SRCIOTSCVTITIL.MAR;1
JTITLE OTSSCVITIL ; Convert text (1nteger) to lonfuord
.IDENT /1-009/ ; File: OTSCVITIL.MAR Edit: sBL1009

AR RAARAARARARRAARRARARRRR2R0 R0 R0 R RdR 2 2222222222222

COPYRIGHT (c) 1978, 1980, 1982, 1984 BY
DIGITAL EQUIPMENT CORPORATION, ‘MAYNARD, MASSACHUSETTS.
ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

» ]
* *
* *
~ |
] *
* L
* *
] *
] *
* L §
:#  TRANSFERRED. .
* *
* L ]
4 |
] *
] *
* L ]
* L
* L ]
* ]
* *

.
.
.
.
.
.
.
.

THE INFORMATION IN THIS SOFTWARE [S SUBJECT TO CHANGE WITHOUT NOTICE
eggPog:??ba NOT BE CONSTRUED AS A COMMITMENT B8Y DIGITAL EQUIPMENT

DIGITAL ASSUMES NO RESPC* SIBILITY FOR THE USE OR RELIABILITY OF [TS
SOf TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.

3

.
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(AASARARARAARAAARRARR AR 2R 0220222003 0222202203222 2022 3202223022

’FACILITY: Language independent support library
L
ABSTRACT:

OTSSCVT_TI_L converts a text representation of a decimal value to
an internal binary form. It replaces FORSCNV_IN_I.

OTSSCVT_TU_L converts a text representation of an unsigned decimal value
to internal binary form.

VERSION: 1
HISTORY:

AUTHOR:
Steven B. Lionel, 21-Feb=-1979: Version 1

MODIFIED BY:

(olelelelelalalelelelelalolelalealalalei=d=lzi=lslolelelalcleleleclelslalelalalelelaclalelelalelelalalela]
elblelolelalelelealelalelelalaleal=dl=d=i={{=lclalelelclalolololslelclolaleleclclelelclelaleleolele e s
[elslalelolelelealelelelclelalolslslrlalalelelalalclelalalalalalelelclelelalelcleleolelaolelgleolelelalel o)
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L 9
(integer) to longword 16=-SEP-1986 00:29:53 yAX/VMS Macro v04-00 Page
led ?urrent Edit History g-SEP-1gg£ ??:fg:66 LIBRTL.SRCIOTSCVTTIL.MAR; 1 9 (5)
LSBTTL  HISTORY ; Detailed Current Edit History
. Edit History for version 1 of OTSSCVT_TI_L
; 1-801 = Adapted from FORSCNV_IN_I version 1-009. SBL 21-Feb-79
;1- oi - Added V_SKIPTABS. SBL T1-JuL-1979
: 1-005 - Fix bug in overflow test. SBL 12=July=1979
: 1-004 - Make V_SKIPTABS bit & to conform with floating. SBL 30-Aug-1979
: 1-005 - Fix bug in tag 3kipping. Add standard module headers.
: SBL 11-Sept-197
: 1-009 = Do correct thing if value_size is incorrect. SBL 25-Feb-1980
: 1=007 = REALLY do correct thing it value_size is incorrect. Previous code
; went into infinite loop. SBL 5-Jan-1981
: 1-008 - Give error if character value greater than 127 found.
: SPR 11-52485 SBL 29-Dec-1982
;: 1-009 - Add OTSSCVT_TU_L. SBL 27-Apr-1983
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.SBTTL DECLARATIONS

* INCLUDE FILES:

* EXTERNAL SYMBOLS:
’ .DSABL GBL
.EXTRN OTSS$_INPCONERR

© MACROS:

PSECT DECLARATIONS:

0000 PSECT _OTSSCODE PIC, SHR, LONG, EXE, NOWRT

LAY —2 OO 00 ~NON N £~ iU — O O 00 ~NOM N B~ LD

: EQUATED SYMBOLS:

0000007C REGMASK = “M<R2, R3, R4, RS R6>
0000001F V_NEGATIVE = 31 fen bit position of flag register
0000001E€ VZUNSIGNED = 30 ; 1nd1cates OTSSCVT_Tu_L

. OWN STORAGE:

=leloleleleleloelelalelalalalelalalalalalelalslalalelslalalalalelele BT

QOO OO OO OO OO MO OO0 00 00 00 00 0D 0O GO0 00 NN N N NN~~~
VOO ~NO W I~

1 "m0 "d"d"d=l=l=l=l=]o]lololelelslelolalealelelalelelelelelelslels]
O
AN = OO0

"= d=l=dlulelelalelolalelalelelelalelewlelelelelelelelelelele]
=3 =d=l=l=l=]o]lolololelalelelalaldlelalolelelololeleololelels]
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OTSSCVTTIL xt (integer) to longword 16-SEP-1984 00:29:53 YAX/VMS Macro V04-00 P 4
1-009 convegt text (ungigned) t 6-SEP-1984 11:%3:66 LIBRTL.SRCIOTSCVTTIL.MAR;1 20¢ (4)

LSBTTL OTSSCVT_Tu_L ; convert text (unsigned) to longword

Lo
—eo

O N OMAVAWAWAAVAVWAVAMA S 85 85 85 85 85 85 8 8 85 W NN G R AR A RTPORIPO PO PO PO RN AUN) = ccd ed b ek e b wd 2 O OO e o

: Con
O15$¢C

+
+

FUNCTIONAL DESCRIPTION:

OTSSCVT_TU_L converts an ASCII strin? containing a text
representation of an unsigned decimal number to internal binary form.

The text representation converted is:
<0 or more blanks>
<0 or more ASCII digits from ''0'' through ''9'">
<end of string>

Notes:

1. It caller flag V. SKIPBLANKS is clear, then spaces are
equivalent to ''0". If set, spaces are ignored.
If caller flag V_SKIPTABS is clear, then tab characters
are illegal. [f set, tabs are ignored.

CALLING SEQUENCE:

status.wlc.v = OTSSCVT_TU_L (in_str.rt.dx, value.wx.r
[, valde_size.rT.v [, caller_flags.rlu.vID

INPUT PARAMETERS:

LA FTE TR FEFE PR FEFE FER FIE FE FE FE FE FE FE FEFIE FE FE N N P PR N

OTSS_INPCONERR =~ There was an invalid character in the input
strin?. thf value overflowed the range a (
or value_size was invalid. The result ''value' is
set to zero, unless value_size is invalid, in which

a loueq.i
$

(elelelelelalalelelelalsleiololelelalelalolalolalolslelalvlelelelelalelealelelalelelelelele elelelelelelelelelelole B Ld
ol laleleleleleoleleleleleleleleleoleolalelololololelelolelelalelalelelolelglelelelalelelsleleoleleololeecleoleolelelele BT )
QOOOCOOO0OO0OOOOCOOO0OO0O0O0O0O00O0O0OOOOOOO0O0COOOOOO0OOOOOOOOOOOOOOOOOOOOO |
(alelalelalalelelalelelalalelalelelelalelelealelelelelolelelelelslalalelelalalelslalalalelalalelslaalalalalelelele R )
—d e = B el el el Dl —d ol il nd ) ) = i e ) = ) i ) il i e ) D el e el e D el el ) il il i el el el e il e e el el el il el D D ssrld e

M) = O OO0 O NS L) = O OO0 NOMN £ L) = O O Q0 N ONMN S W —= O O 00 O VN 8~ Lt — O O 00 ~JON N 8~ LN = OO0 00 ~O~

00000004 in_str = 4 : Input string b¥ descriptor
0000000C value_size = 12 ; Size of value in bytes
: Must be 1, 2 or &.
00000010 caller fla?s = 16 ; Caller flags by value
00000000 V_SKIPBLANKS =0 : 1t set, blanks are ignored.
; Else they are treated as
: 2eroes.
00000004 V_SKIPTABS = 4 : 1f set, tabs are ignored.
: Else they are invalid.
: IMPLICIT INPUTS:
: NONE
: OUTPUT PARAMETERS:
00000008 ’ value =8 : Output value by reference
P IMPLICIT OUTPUTS:
: NONE
: COMPLETION CODES:
: $S$_NORMAL - Successful comptetion
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OTSSCVITIL ; Convert text (integer) to longword 16-SEP-1984 00:29:53 VAX/VMS Macro V04-00 Page 5
1-009 OTSSCVT_TU_L ; convert text (unsigned) t 6-SEP=-1984 11:13:46 (LIBRTL.SRCIOTSCVTTIL.MAR; (4)

0000 163 ; case '‘value' is unpredictable.

00CO 164 ;

0000 165 ; SIDE EFFECTS:

0000 166 ;

0000 167 ; NONE

0000 168 ;

0000 169 ;--

0000 170

007¢ 0000 171 LENTRY OTSSCVT_TU_L, REGMASK
56 D4 0002 17§ CLRL Ré : Clear tlags mask o
06 56 1E ES3 8883 };‘ BBCS #V_UNSIGNED, R6, COMMON_ENTRY ; Set UNSIGNED and join common code
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OTSSCVITIL text (integer) to longword 16
1-009 I_L ; convert text (integer) to 6

*
+

Be B Ve Ve B BeBo B Ve Ve B P Ve B Ve VeV Vs Vs WsBa Ve BaeBs Ve We ®oeBs s

00000004
0000000C

00000010
00000000

00000004

00000008

elelelelelelelelelelelolelelelelaleleclelealelalalalelelelslelalelwloleleloleloleloleolololelololeleleolelelelelele Lo ST 24
(elalelelelelelelelelelalalealslelelalelelalelelelalmi>i~lslalalalalslelelblaldllelelololalelelolelolelolslslelele BT
(elelelelelelalolelolalelalalelelalalslclalalaleiioicirlelolalelolalalelelalaleolelelelelelslaololelelolelelols e ]

00 00 0000 OB G O OO 0o 00 00 GO 000 O OB 0D OB C0 OB O 0o 0o B OB OO 0B 0B 00 OB O 0o GO 0O OO 0D OO 00 08 00 00 OB 00 00 00 0o 00 D OO GO 0D O COCD0DCO0D  —dre
WHANIANONO NI ADNINLAINININ) b wd wd b s e 2 =d b 2 O O O O OO OO OO OOV VOV OO VOO0 0D00C0000C0 N~~~

N =2 OO NS LWL 2 O OO NN S NN 2 OO0 N O N8 LN =2 O O OO O N S L) = O O 0D YO\ 8 L) = O O 00 O

PUNOAVT VNNV AINLNINL ALNV NPV AL NI NPV ALNI NI NPV PV PPN RO PO NININD b b d ed b b ead o el wad e o el cnd el e el D ool s ol ) ol e

¢ 10
9:53 yAX/VMS Macro Vv04-00 Page g
3:46 L[LIBRTL.SRCIOTSCVTTIL.MAR;1 (5)

LSBTTL OTSSCVT_TI_L ; convert text (integer) to longword

FUNCTIONAL DESCRIPTION:

OTSSCVT_TI_L converts an ASCII string containing 3 text
representation of a decimal number to internal binary form.

This routine supports FORTRAN | input format conversion as well
as similar types for other Languages.

The text representation converted is:
<0 or more blanks>
<+, =" or nothing>
<0 or more ASCI] digits from '°0'' through ''9'">
<end of string>

Notes:

1. 1f caller flag V _SKIPBLANKS is clear, then spaces are
equivalent to ''0". If set, spaces are ignored.

2. If caller flag V_SKIPTABS is clear, then tab characters
are illegal. If set, tabs are ignored.

CALLING SEQUENCE:

status.wlc.v = OTSSCVT_TI_L (in_str.rt.dx, value.wx.r
[, value_size.rU.v [, cal[er_flags.rlu.v]])

INPUT PARAMETERS:

in_str = & ; Input string b¥ descriptor
value_size = 12 Size of value in bytes
Must be 1, 2 or &.

Caller flags by value

If set, blanks are ignored.
Else they are treated as
zeroes. )

If set, tabs are 1?nored.
Else they are invalid.

caller flags = 16
V_SKIPBLANKS =0

L]
S

V_SKIPTABS

LER YR YR FEYE FE ERE TN ]

. IMPLICIT INPUTS:

NONE

. OUTPUT PARAMETERS:

value =8 ; Output value by reference

; IMPLICIT OUTPUTS:

NONE

; COMPLETION CODES:

SSS_NORMAL = Successful completion ]
OTSS_INPCONERR = There was an invalid character in the input

M

T
M4
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I_L ; convert text (integer) to 6-SEP-1984 11:13:46 L[LIBRTL.SRCIOTSCVITIL.MAR;? (5)

-

OTSSCVITIL : Con
1-009 01SS$C
stranf the value overflowed the ran e allowed,

or value_size was invalid. The result ''value' is

set to zero, unless value size is inval%d in which
case "'value” {s unpredictable.

SIDE EFFECTS:

®oe e e e ®eo Ve Ve Ve o ve

NONE
FORSCNV_IN 1:: ; For compatibility
007¢ ERTRY OTSSCVT_TI_L, REGMASK
56 D& CLRL R6 : clear flags
COMMON_ENTRY:
S0 04 8BC 7D MOva din_str(AP), RO : RO = width of the input string
; R1 = address of the input string
5¢ 7C CLRQ R& ¢ RG/RS = ACC = 0
06 6C 9N CMPB (AP), #<caller_flags/4> ; Optional argument present?
06 19 BLSS 5% ; No
56 10 AC 90 MOVB caller_flags(AP), Ré ; Yes, move it

.t
; Find the first non-blank character. Process the sign, if present,
; and if we are not doing unsigned conversion.

S POMNONINMTLNVNOTV OO ONSOMAOPPOWVN=TTTTIOIDEOO®OD®OD NNINVOO O > 0000000000000 0000000CD0D —4re
00 O S~ LN =2 O OO0 “NOM WV B N — O O G0 N O WA SN W) 2 O O 00 “NIOM WA 8 LN —2 O OO0 N O S L) — OO 00 O \N £~

(elalalelalelelelelalalalnlelelelealalelelelelelelelelelelslelelalalalalalslalelalelols alalalqlalelelalolslsls BT
BN 8288 BB DN AN AN NI NN NINININ) 4 b D b b b b e e ed e e ed e e 8 b O O OO OOVOOOOQOOOOCOCOOO )

alelelelelalelele aoleleleleolelalelolalelelelolelelelelclclelelalelelolelelcleleloleleleolelealelelelelelelele BT L
FUNVNINLNININLNALNONLINI NNV A AN NNV PO AL N NI POLNI NI NI NI AL R ARV AL NI NN R NI R NOLRINIAONNININY
QO OO0DO000000000000 N NN NNNNNNNOOOOCONOOOO O\ NVAVIVAVAVAWWMWAWNE IS BS80S 0 B B i

61 50 20 38 5$: SKPC #*A/ /, RO, (R1) ; skip blanks
: RO = WMCHAR _REMAINING
: R1 = POINTER_TO_ INPUT
: L bit is set " if RO =
61 13 BEQL DONE ; branch to DONE it no non-blank
08 56 04 EI BBC #V_SKIPTABS, R6, 7% : Ignoring tabs?
09 61 N CMPB (RT) #*X09 ; Yes, is it a tab?
06 12 BNEQ 7% ; It not, continue
51 06 INCL R . Bump pointer
S0 07 DECL RO : Decrement counter
EB 11 BRB 5% Look for more.
12 56 1E EO 78: BBS 'y NSIGNED R6, DIGIT L60P : If unsigned, skip S\gn test
20 61 9 CMPB (RT) NANS=) ; is the current char a sign?
04 12 BNEQ 108 no, branch to 10$%
05 56 1F €3 BBCS #V_NEGATIVE, R6, DECIMAL’ ) ]
; set negative flag and continue
28 61 N 10%: CMPB (R o YR T ; 1s current char a3 ''+"’ g
06 12 BNEQ DIG f LooP : no, branch to check if it is a digit
;0
: skip over 0 or u’u s{gn
DECIMAL :
50 D7 DECL RO : RO = #CHAR REMAINING
51 D6 INCL R1 : R1 = POINTER_TO_INPUT
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OTSSCVTITIL Convert text (integer) to lLongword 16-SEP-1984 00:29:53 YAX/VMS Macro v04-00 Page 8
1-309 OTSSCVT_TI_L ; convert text (in eger) to 6-sep-193« 91:73:46 !LIBRTL.SRCJOTSCVTTIL.HAR:1 ® (&
0046 90 .+
0046 91 . Loop to collect dlgits. treat blanks as zeroes, until the string is exhausted
8046 95 . then branch to DON
046 93 .-
0046 94
0046  ¢95 DIGIT_LOOP:
50 D7 0046 96 CECL RO : RO = WMCHAR_REMAINING
38 19 8822 gg BLSS DONE ; branch to DBONE if the string is exhausted
00¢6A 99 .+
882: 8? . Get next character, converting blanks into 2eroes unless V_SKIPBLANKS set.
004 302 °
55 B1 9A 0Q04A Og MOVIBL (R1)+, R3 ; get current char and adjust POINTER_TO_INP
20 53 91 004D 06 CMPB R3, #°A/ / ; compare char with blank
08 13 0050 05 BEQL 108 : Yoss1bly ignore or set to 0
OE 56 04 EY 0052 306 B8B(C #V_SKIPTABS, R6, CHECK_DJGIT ; not ignoring tabs?
09 53 91 0056 307 CMPB R3, #*X09 ; Tab?
EB 13 0059 308 BEQL  DIGIT_LOOP : Yes, ignore it
07 11 0058 309 BRB CHECK _DIGIT ; Continue
ES 56 00 EO 0050 310 108:  BBS #vV_SKIPBLANKS, R6, DIGIT LOOP ; ignore if V_SKIPBLANKS set
53 30 00 G061 3IN MOVL #~X/0/, R3 ; convert blank into Zero
0064 31%
0066 313 ;+
0064 314 ; (heck it current char is a legal digit, accumulate it in ACC if yes and
88%2 %}2 : then branch to DIGIT_LOOP if no overflow. Otherwise fall into ERROR.
0066 317
0064 318 CHECK_DIGIT:
53 30 (2 0066 319 SUBL #*A/0/, R3 : R3 = ASCII(current_char) = ASCII('0')
Og 19 0067 320 BLSS ERROR : Error if Lless than ''Q"
09 5 D1 0069 321 CMPL R3, #9 ;: Is it greater than '9'"?
09 14 006C 322 BGTR ERROR ; 1f so, error
5 53 56 O0A 7A 0065 323 EMUL #10, R4, R3, R4 : MO0 = radix ] )
007 324 : R6 = LP(ACC), only LP(ACC) will be used in
0073 3¢5 : since RS (=Hﬁ(AC§ ) must be zero
0073 326 : R3 = current digit . )
. 0073 327 : R4/RS = Agc = ALC ~ radix ¢ current_digit
55 05 0073 328 TSTL RS : conﬂaro RS with 0, since a non-2ero value
0075 3%9 : in HP(ACC) meand overflow
CF 13 0075 330 BEQL DIGIT_LOOP ; 1t no overflow branch back to get more
0077 3N : character. Otherwise fall into ERROR
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1-009 OTSSCVT_TI_L ; convert text (integer) to &=SEP-1984 11:13:486 (LIBRTL.SRCIOTSCVITIL.MAR;1 (7)
0077 3 .+
8077 & ; ERROR return
0077 938 ¢
50  00000000°'8fF DO 0077 ? ERROR: MOVL #07SS_INPCONERR, RO : RO = error return code
5¢ D& 807E 8 CLRL R4 ; zero result
21 11 0080 9 8R8 EXIT ; exit with 2ero and error
008 40
008 L1 ;+
008 Li . DONE
008 &5 ;-
803 46
50 01 00 00 45 DONE:  MOVL 1, RO ; return function value of SS$_NORMAL
12 56 1F E1 Q08 46 BB(C #V_NEGATIVE, R6, 108 ; branch if ''='" wasn't seen
80000000 8F S4& D1 0089 347 CMPL  R&S#%X80000000 ;is it 2ev31?
N 13 0090 48 BEQL exfr ; yes, already correct!
54 D5 0092 49 TSTL R4 ; test for overflow
£1 19 0094 50 BLSS ERROR : 11 already negative, overflow
5¢ S& CE 0096 51 MNEGL R4, R4 : answer is -Ré
08 11 0099 si BRB Exfr ; Store result
04 5¢ 1€ EQ 0098 353 108: BBS #V_UNSIGNED, R6, EXIT . Skip overflow test if unsigned
S4 DS O009F 354 TSTL R& : Overflow?
D& 19 00A1 355 BLSS ERROR : 1f negative, yes
03 6C 91 OQO0A3 356 ExIT: CMPB (AP), #<value_size/4> ; Is arg present?
22 19 00A6 357 BLSS 40% . : If not, assume longword
5¢ 0C AC DO 0Q0A8 358 MOVL value_size(AP), RZ : Get value size in
1C 13 00AC 359 BEQL 40% : If zero, assume &
06 5¢ DY O00AE 360 CMPL R2, #4 ; Is it a longword?
17 13 0081 361 BEQL 40§ : Yes
02 52 D1 0083 36§ CMPL RS, #2 ; Word?
OA 13 0086 36 BeaL 208 : Yes ,
15 1A 00B8 364 BGTRU  BADSIZE : Byte if LSS, bad otherwise
08 BC 54 F6 00BA 365 CVTILB R4, avalue(AP) ; Convert byte
87 10 008 gbb BVS ERROR ; Overflow?
0c 11 00cC 67 BRB 50$ : No, exit
08 BC 54 F7 0Q0C2 3¢8 20%: CVILW R4, Qvalue(AP) ; Convert to word
AF 1D 00C6 §69 BVS ERROR : Overtlow?
04 11 00C8 70 B8R8 50% : No, exit
08 BC 54 DO OQ0CA 371 408: MOVL R4, @value(AP) : Move longword
04 00CE 7% 50%: RET
00CF 7
00CF 76 ;¢ L
00CF 75 ; Come here when value_size is incorrect.
00CF 79 i-
00CF 4
00CF 378 BADSIZE: _
50 00000000'8F DO O0OCF 79 MOvL #0TSS_INPCONERR, RO : Input conversion error
04 0006 80 RET
0007 81
0007 82 .END
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OTSSCVTTIL ; Convert text (integer) to longword 16-SEP-1984 00:29:53 VAX/VMS Macro V04=-0 Page 10
Symbol table 6-SEP-1984 11:13:46 ([LIBRTL.SRCIOTSCVTTIL.MAR;1 (7)
BADSIZE 000000CF R 01
CALLER FLAGS = 00000010
CHECK BIGIT 0800 8k R 0
COMMOR ENTRY 0000 R 01
DECIMAC 00080 (&2 R 01
DIGIY_LOOP 00000046 R 0
DONE 0000008¢ R N
ERROR 00000077 R 0N
EX1T OOOOOOAg R 0
FORSCNV_IN_I 00000008 RG 01
IN_STR = 00000004
0T1SSCVT_T1_L 80000 08 RG 01
OTSSCVT TU L 0000000 RG 0
OTSS_INFCORERR  seeseeen  x 00
REGMASK = 0000007¢
VALUE = 00000008
VALUE SIZE = 0000000C
V_NEGATIVE z 0000001F
V_SKIPBLANKS = 00000000
V_SKiPTABS = 00000004
V_UNSIGNED = 0000001€
$ecccccccccccnnca +
! Psect synopsis !
bomcscsscssssccanas
PSECT name Allocation PSECT No. Attributes
. _ABS . 00000000 ¢ _ 0.) 00 ¢ 0.) NOPIC USR CON ABS LCL NOSHR NOEXE NORD NOWKRT NOVEC BYTE
_OTSSCODE 00000007 ¢ 215.) 01 ¢ 1.)  PIC WUSR CON REL LCL SHR EXE RD NOWRT NOVEC LONG
jocscsssscsscsssessassasnses ¢+
! Pertormance indicators !
teccnccccccscssnsccssaasss ¢
Phase Page faults CPU Time Elapsed Time
Initializetion 30 00:00:00.04 00:00:02.60
Command processing 107 00:00:00.3% 00:00:0%.57
Pass 1 75 00:00:00.5 00:00:02.M
Symbol table sort 0 00:00:00.01 00:00:00.01
Pass 2 T4 00:00:00.46 00:00:02.43
Symbol table output 4 00:00:00.02 00:00:00.02
Psect synopsis output 88:80: 0.01 80:00:80.01
Cross-reference output :00:00.00 0:00:00.00
Assembier run totals 294 00:00:01.38  00:00:10.35

The working set Limit was 1050 pages. . i

5207 bytes (11 pages) of virtual memory were used to buffer the intermediate code.

There were 10 pages of symbol table space allocated to hold 21 non-local and 8 local symbols.
2 source Lines were read in Pass 1, producnna 14 object records in Pass ¢

0 pages of virtual memory were used to define ( macros.




0155‘ 1T1L ; Convert
VAX-11 Macro Run Statistics

Macro Library name

_3255$DUA28:[SYSL!BJSTARLET.HLB:Z
0 GETS were required to define 0 macros.

——

coxt Ciateger) to lonmibra  VGTGEECIRE ORRT FANGNS SRESBARSTHL s " 1,

! Macro Library statistics !

bococacas LTI LYY T Y T Y Y Yy ¥ Yy 3

Macros defined

There were no errors, warnings or information messages.
MACRO/ENABLE=SUPPRESSION/DISABLE=(GLOBAL , TRACEBACK) /L1S=L1S$:0TSCVITIL/0BJ=0BJS:0TSCVITIL MSRCS:0OTSCVTITIL/UPDATE=(ENHS:0TSCVTTIL)

-0
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